

ON THE LOCATION OF ZEROS OF POLYNOMIALS

A. Aziz and B. A. Zargar*

Department of Mathematics University of Kashmir, Srinagar

E-mail: bazargar@gmail.com

(Received on: 09-12-10; Accepted on: 09-03-11)

ABSTRACT

In this paper we obtain certain generalizations and refinements of well known Enestrom –akeya Theorem for a polynomial under much less restrictions on its coefficients.

Keywords and phrases; zero's, Bounds, Polynomials.

Mathematics, Subject classification (2002): 30C10, 30C15

1. INTRODUCTION AND STATEMENT OF RESULT:

Let $P(z)$ be a polynomial of degree, such that

$$a_n \geq a_{n-1} \geq \dots \geq a_1 \geq a_0 \geq 0 \quad (1)$$

then according to a famous result due to Enestrom andakeya [8] the polynomial $P(z)$ does not vanish in the closed disk $|z| > 1$

Applying this result to the polynomial $P\left(\frac{z}{a}\right)$, we obtain the following more general result:

THEOREM: A If

$$P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0,$$

is a polynomial of degree n , such that for some $a > 0$

$$a_n \geq aa_{n-1} \geq \dots \geq a^{n-1}a_1 \geq a^n a_0 > 0 \quad (2)$$

then $P(z)$ does not vanish in $|z| > \frac{1}{a}$. This is a very elegant

result but it is equally limited in scope. The hypothesis is very restrictive and does not seem always useful for applications. In the literature ([1], [3]-[7], [9]) there already exist some extensions and generalizations of this result. In connection with Theorem A it was asked by Govil and Rahman [5] that, can we drop the restriction that the coefficients are all positive and instead assume (2) to hold for the moduli of the coefficients? As an answer to this question they proved:

***Corresponding author: B. A. Zargar**

E-mail: bazargar@gmail.com

Department of Mathematics University of Kashmir, Srinagar

THEOREM: B Let

$$P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0,$$

be a polynomial of degree n with complex coefficients such that for some $a > 0$

$$|a_n| \geq a|a_{n-1}| \geq a^2|a_{n-2}| \geq \dots \geq a^{n-1}|a_1| \geq a^n|a_0| \quad (3)$$

then $P(z)$ has all its zeros in

$$|z| \leq \left(\frac{1}{a}\right)k_1$$

where k_1 is the greatest positive root of the trinomial equation.

$$k^{n+1} - 2k^n + 1 = 0$$

Recently Aziz and Zargar [2], have relaxed the hypothesis of Enestrom-akeya Theorem in several ways and proved the following results:

THEOREM: C Let

$$P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0$$

be a polynomial of degree n such that for some $k \geq 1$.

$$ka_n \geq a_{n-1} \geq \dots \geq a_1 \geq a_0 \geq 0, \quad (4)$$

then $P(z)$ has all its zeros in

$$|z + k - 1| \leq k$$

THEOREM: D Let

$$P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0$$

be a polynomial of degree n such that either

$$a_n \geq a_{n-2} \geq \dots \geq a_3 \geq a_1 \geq 0$$

and $a_{n-1} \geq a_{n-3} \geq \dots \geq a_2 \geq a_0 \geq 0$, if n is odd

or

$$a_n \geq a_{n-2} \geq \dots \geq a_2 \geq a_0 \geq 0$$

and $a_{n-1} \geq a_{n-3} \geq \dots \geq a_3 \geq a_1 \geq 0$, if n is even

then all the zeros of $P(z)$ lie in the circle

$$\left| z + \frac{a_{n-1}}{a_n} \right| \leq 1 + \frac{a_{n-1}}{a_n}.$$

The following result immediately follows from Theorem C.

THEOREM: E Let $P(z)$ be a polynomial of degree n satisfying (4), then $P(z)$ has all its zeros in

$$|z| \leq 2k - 1$$

We first prove the following result which generalises Theorem B to lacunary polynomials and in particular show that its conclusion remains valid under much weaker hypothesis:

THEOREM: 1.1 Let

$$P(z) = a_n z^n + a_p z^p + a_{p-1} z^{p-1} + \dots + a_1 z + a_0$$

$0 \leq p \leq n-1$, be a polynomial of degree n with complex coefficients such that for some $t > 0$

$$t|a_n| \geq |a_j|, j = 0, 1, \dots, p, \quad 0 \leq p \leq n-1, \quad (5)$$

then $P(z)$ has all its zeros in the closed disk

$$|z| \leq k_1,$$

where k_1 is the greatest positive root of the quadrinomial equation

$$k^{n+1} - k^n - tk^{p+1} + t = 0 \quad (6)$$

the bound (6) is best possible and is attained for the polynomial.

$$P(z) = z^n - t(t^p + z^{p-1} + \dots + z + 1)$$

The following result immediately follows from Theorem 1.1, if we taken $p = n-1$

COROLLARY 1.1 Let

$$P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0,$$

be a polynomial of degree n with complex coefficients such that for some $t > 0$

$$t|a_n| \geq |a_j|, \quad j = 0, 1, 2, \dots, n-1,$$

then $P(z)$ has all its zeros in

$$|z| \leq k_2$$

where k_2 is the greatest positive root of the trinomial equation

$$k^{n+1} - (t+1)k^n + t = 0$$

Applying Corollary 1.1 to the polynomial $P\left(\frac{z}{a}\right)$, we get the

following result which shows Theorem B remains valid under much weaker hypothesis:

COROLLARY: 1.2. Let

$$P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0$$

be a polynomial of degree n with complex coefficients, such that for some $a > 0$ and $t > 0$,

$$t|a_n| \geq a^{n-j}|a_j|, j = 0, 1, \dots, n-1,$$

then $P(z)$ has all its zeros in

$$|z| \leq \frac{1}{a} k_2,$$

where k_2 is the greatest positive root of the trinomial equation.

$$k^{n+1} - (t+1)k^n + t = 0$$

The following result easily follows from Corollary 1.2 as a special case

COROLLARY 1.3 Let

$$P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0$$

be a polynomial of degree n , with complex coefficients, if for some $a > 0$ and $t > 0$

$$t|a_n| \geq a|a_{n-1}| \geq \dots \geq a^n|a_0|, \quad (9)$$

then $P(z)$ has all its zeros in $|z| \leq \frac{1}{a} k_2$

where k_2 is the greatest positive root of the trinomial equation.

$$k^{n+1} - (t+1)k^n + t = 0 \quad (10)$$

For $t = 1$, Corollary 1.3 reduces to Theorem B.

Next, we shall present the following generalization of Theorem D.

THEOREM M: 1.2 Let

$$P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0$$

be a polynomial of degree n , such that for some $k \geq 1$, either

$$ka_n \geq a_{n-1} \geq \dots \geq a_3 \geq a_1 \geq 0$$

and $a_{n-1} \geq a_{n-3} \geq \dots \geq a_2 \geq a_0 \geq 0$, if n is odd
or

$$ka_n \geq a_{n-2} \geq \dots \geq a_2 \geq a_0 \geq 0$$

and $a_{n-1} \geq a_{n-3} \geq \dots \geq a_3 \geq a_1 \geq 0$, if n is even,

then all the zeros of $P(z)$ lie in

$$\left| z + \frac{a_{n-1}}{a_n} \right| \leq (2k-1) + \frac{a_{n-1}}{a_n} \quad (12)$$

REMARK: 2 For $k = 1$ Theorem 1.2 reduces to Theorem D. Finally, if we apply Theorem 1.2 to the polynomial $P(tz)$, we get the following more general results:

THEOREM: 1.3. Let

$$P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0$$

be a polynomial of degree, such that for some $t > 0$ and $k \geq 1$, either

$$kt^n a_n \geq t^{n-2} a_{n-2} \geq \dots \geq a_3 t^3 \geq a_1 t \geq 0$$

$$\text{and } t^{n-1} a_{n-1} \geq t^{n-3} a_{n-3} \geq \dots \geq t^2 a_2 \geq a_0 \geq 0,$$

if n is odd or

$$kt^n a_n \geq t^{n-2} a_{n-2} \geq \dots \geq a_2 t^2 \geq a_0 t \geq 0$$

$$\text{and } t^{n-1} a_{n-1} \geq t^{n-3} a_{n-3} \geq \dots \geq a^3 t_3 \geq ta_1 \geq 0,$$

if n is even then all the zeros of $P(z)$ lie in the circle

$$\left| z + \frac{a_{n-1}}{a_n} \right| \leq t(2k-1) + \frac{a_{n-1}}{a_n}$$

REMARK: 3. Taking $k = 1$ and $t = 1$ in Theorem 1.3, we get Theorem D.

PROOFS OF THE THEOREMS:

PROOF OF THEOREM 1.1: We shall prove that

$$P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0$$

has all its zeros in $|z| \leq k_1$, where k_1 the greatest positive root of the equation defined by (6). To show this, it is sufficient to consider the case when $(p+1)t > 1$. For $(p+1)t \leq 1$, then on $|z| = R > 1$, we have

$$\begin{aligned} |P(z)| &= |a_n z^n + a_p z^p + \dots + a_1 z + a_0| \\ &\geq |a_n| \left\{ |z|^n - \left(\left| \frac{a_p}{a_n} \right| |z|^p + \dots + \left| \frac{a_1}{a_n} \right| |z| + \left| \frac{a_0}{a_n} \right| \right) \right\} \\ &\geq |a_n| \{ R^n - t(R^n + \dots + R + 1) \} \\ &= |a_n| (R^n - t(p+1)R^p) \end{aligned}$$

$$\geq |a_n| (R^n - R^p) > 0, \text{ for } 0 \leq p \leq n-1$$

So we assume $t(p+1) > 1$. In this case it can be easily seen that $k_1 > 1$, where k_1 is the greatest positive root of the equation defined by (6). Now for $|z| = R > 1$, we have

$$\begin{aligned} |P(z)| &\geq |a_n| |z|^n \left\{ 1 - \left| \frac{a_p}{a_n} \right| \frac{1}{z^{n-p}} + \left| \frac{a_{p-1}}{a_n} \right| \frac{1}{z^{n-p+1}} + \dots + \left| \frac{a_0}{a_n} \right| \frac{1}{z^n} \right\} \\ &\geq |a_n| |z|^n \left\{ 1 - \left(\left| \frac{a_p}{a_n} \right| \frac{1}{|z|^{n-p}} + \left| \frac{a_{p-1}}{a_n} \right| \frac{1}{|z|^{n-p+1}} + \dots + \left| \frac{a_0}{a_n} \right| \frac{1}{|z|^n} \right) \right\} \\ &\geq |a_n| |z|^n \left\{ 1 - \frac{t}{|z|^{n-p}} \left(1 + \frac{1}{|z|} + \dots + \frac{1}{|z|^p} \right) \right\} \\ &\geq |a_n| |z|^n \left\{ 1 - \frac{t}{R^{n-p}} \left(1 + \frac{1}{R} + \dots + \frac{1}{R^p} \right) \right\} \\ &= |a_n| |z|^n \left\{ 1 - \frac{t}{R^{n-p}} \frac{(R^{p+1} - 1)}{R^p (R - 1)} \right\} \\ &= |a_n| |z|^n \left\{ 1 - \frac{t}{R^n} \frac{(R^{p+1} - 1)}{(R - 1)} \right\} \\ &> 0, \end{aligned}$$

if

$$R^{n+1} - R^n - tR^{p+1} + t > 0.$$

This implies that

$|P(z)| > 0$, for $|z| > k_1$, where $k_1 (>1)$ is the greatest positive root of the equation.

$$k^{n+1} - k^n - tk^{p+1} + t = 0.$$

Hence all the zeros of $P(z)$ whose modulus is greater than 1 lie in $|z| \leq k_1$, where k_1 is the greatest positive root of the equation defined by (6). Since all those zeros whose modulus is less than or equal to 1 already lie in $|z| \leq k_1$. The desired result follows immediately.

PROOF OF THEOREM: 1.2 Consider

$$F(z) = (1 - z^2)P(z)$$

$$= -a_n z^{n+2} - a_{n-1} z^{n+1} + (a_n - a_{n-2}) z^n + (a_{n-1} - a_{n-3}) z^{n-1} + \dots + (a_3 - a_1) z^3 + (a_2 - a_0) z^2 + a_1 z + a_0$$

For $|z| > 1$, we have

$$|F(z)| = \left| -a_n z^{n+2} - a_{n-1} z^{n+1} - ka_n z^n + a_n z^n + (ka_n - a_{n-2}) z^n + (a_{n-1} - a_{n-3}) z^{n-1} + \dots + (a_3 - a_1) z^3 + (a_2 - a_0) z^2 + a_1 z + a_0 \right|$$

$$\geq |z|^{n+1} \left\{ |a_n z + a_{n-1}| - \left| (k-1)a_n \frac{1}{z} + (ka_n - a_{n-2}) \frac{1}{z^2} + (a_{n-1} - a_{n-3}) \frac{1}{z^3} + \dots + (a_3 - a_1) \frac{1}{z^{n-3}} + (a_2 - a_0) \frac{1}{z^{n-1}} + a_1 \frac{1}{z^n} + a_0 \frac{1}{z^{n+1}} \right| \right\}$$

$$\geq |z|^{n+1} \left\{ |a_n z + a_{n-1}| - \left\{ \begin{aligned} & \left| k-1 \right| a_n \frac{1}{|z|} + |ka_n - a_{n-2}| \frac{1}{|z|^2} \\ & + |a_{n-1} - a_{n-3}| \frac{1}{|z|^3} + \dots + |a_3 - a_1| \frac{1}{|z|^{n-3}} \\ & + |a_2 - a_0| \frac{1}{|z|^{n-1}} + a_1 \frac{1}{|z|^n} + a_0 \frac{1}{|z|^{n+1}} \end{aligned} \right\} \right\}$$

$$> |z|^{n+1} \left\{ |a_n z + a_{n-1}| - \left\{ \begin{aligned} & (k-1)a_n + (ka_n - a_{n-2}) \\ & + (a_{n-1} - a_{n-3}) + \dots + (a_3 - a_1) \\ & + (a_2 - a_0) + a_1 + a_0 \end{aligned} \right\} \right\}$$

$$= |z|^{n+1} \left\{ |a_n z + a_{n-1}| - ((k-1)a_n + ka_n + a_{n-1}) \right\} > 0,$$

if

$$|a_n z + a_{n-1}| > (2k-1)a_n + a_{n-1}$$

or

$$\left| z + \frac{a_{n-1}}{a_n} \right| > (2k-1) + \frac{a_{n-1}}{a_n}$$

therefore all the zeros of $F(z)$ whose modulus is greater than 1 lie in

$$\left| z + \frac{a_{n-1}}{a_n} \right| \leq (2k-1) + \frac{a_{n-1}}{a_n}$$

but those zeros of $F(z)$ whose modulus is less or equal to 1 already satisfy the inequality. Since all the zeros of $P(z)$ are also the zeros of $F(z)$, it follows that all the zeros of $P(z)$ lie in the circle defined by (12). This proves Theorem 2.1 completely.

REFERENCES:

- [1] A. Aziz and Q G Mohammad. Zero- free regions for polynomials and some generalizations of Enestrom-Kakeya Theorem, Canad. Math.Bull 27(1984), 265-272.
- [2] A .Aziz and B.A. Zarger. Some Extensions of Enestrom – Kakeya Theorem, Glasnik Matematicki 31 (1996), 239-244.
- [3] K.K. Dewan and M. Bidkham. On the Enestrom- Kakeya Theorem I, J. Math. Anal . Appl, 180 (1993), 29-36.
- [4] N.K Govil and V.K Jain, On the Enestrom- Kakeya Theorem II, J. Approx. Theory 22(1978), 1-10.
- [5] N.K. Govil and Q.I Rahman, On the Enstrom-Kakeya Theorm, Tohoku Math J. 20(1968), 126 – 136.
- [6] A. Joyal, G. Labelle and Q.I. Rahman . On the Location of zeros of polynomials, Canad. Math. Bull .10 (1967), 53-63.
- [7] P.V Krishnala, On the Kakeya Theorem, J. London Math Soc. 20 (1955), 314-319.
- [8] M. Marden. Geometry of polynomials, IInd Ed. Surveys,3 Amer Math.Soc. Providance 1966 R.I.
- [9] G.V Milovanoic , D.S. Mitrinovic, Th.M Rassias. Topics in polynomials, Extremal problems, Inequalities, zeros (World Scientific, Singapore, (1994).
